# Project Name: Pavement Resurfacing - Creek Road Area Spec. No. RD22-12 Abstract of Bids opened on August 2, 2022

ENGINEER'S ESTIMATE: 2,100,000.00

LOW BIDDER - 2,121,030.45 J & H Engineering General Contractors, Inc. Camarillo, CA 93012

2nd Bidder - 2,165,983.20 Toro Enterprises, Inc. Oxnard, CA 93031

3rd Bidder - 2,405,190.00 Granite Construction Company Ventura, CA 93003

The undersigned certifies that the bids abstracted above were received on behal of the Board of Supervisors, 'County of Ventura at the time and place designated in the Notice Inviting Bids; were opened and read; and were checked.

Director, Engineering Services Department

Bids opened on August 2, 2022				ENGINEER'S ESTIMATE		LOW BIDDER	LOW BIDDER	
Project Name: Pavement Resurfacing - Creek Road Area				1		J & H Engineering General Contractors 4065 Mission Oaks Blvd, Suite B Camarillo, CA 93012		
	Spec. No. RD22-12							
ITEM NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
1	Mobilization	LS	1	191,268.00	191,268.00	139,500.00	139,500,00	
2	Traffic Control & Construction Signing	LS	1	165,000.00	165,000,00	110,000.00	110,000.00	
3	Senate Bill 1 (SB1) Sign	EA	2	2,000.00	4,000.00	750.00	1,500.00	
4	Water Pollution Control	LS	1	10,000.00	10,000.00	8,500.00	8,500.00	
5	Roadway Preparation	LS	1	35,000.00	35,000.00	62,000.00	62,000.00	
6	Portland Cement Concrete (PCC) Curb	LF	1709	35.00	59,815.00	35.00	59,815.00	
7	Median Cobblestone	SF	4077	15.00	61,155.00	16.60	67,678.20	
}	Root Pruning and Root Barrier	LF	25	100,00	2,500.00	80.00	2,000.00	
)	Processed Misecellanous Base	TN	260	40.00	10,400.00	60.00	15,600.00	
0	AC Pavement Widening	TN	230	120.00	27,600,00	265.00	60,950.00	
1°	Mill & Fill	TN	130	300.00	39,000.00	185.00	24,050.00	
2	Base Repair	TN	135	300.00	40,500.00	225.00	30,375.00	
3	Removal, Installation, & Raising Guardrail	LS	1	25,000.00	25,000.00	24,450.00	24,450.00	
14	Cold Milling (5' Wide)	LF	5805	6.00	34,830.00	1.60	9,288.00	
5	AC Taper With Key	SF	8545	2.00	17,090.00	0.85	7,263.25	
6	Seal Coat	LF	3448	2.00	6,896.00	1.00	3,448.00	
7	Asphalt Rubber Aggregate Membrane (ARAM)	SY	62553	5.00	312,765.00	9.00	562,977.00	
8	Asphalt Concrete Hot Mix (AC) with Fiber Reinforcement	TN	5961	130.00	774,930.00	115.00	685,515.00	
9	Shoulder Backing	MI	10	8,000.00	80,000.00	4,780.00	47,800.00	
0:	Miscellaneous Paving	TN	15	350.00	5,250.00	338.00	5,070.00	
1	Pavement Delineation, Striping & Signing	LS	1	150,000.00	150,000.00	158,000.00	158,000.00	
22	Survey Monument Frame Replacement & Adjustment	EA	47	1,000.00	47,000.00	750.00	35,250.00	
23	Release On Contract	LS	1	1.00	1.00	1.00	1.00	
	TOTAL				2,100,000.00		2,121,030.45	

ids opened on August 2, 2022	2nd Bidder		3rd Bidder	3rd Bidder	
roject Name: Pavement Resurfacing - Creek Road Area	Toro Enterprises, In	C.	Granite Construction	Granite Construction Company	
	P.O. Box 6285		4820 McGrath Street, #101 Ventura, CA 93003		
	Oxnard, CA 93031				
Spec. No. RD22-12					
TEM   NO,   ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
Mobilization	175,000.00	175,000.00	125,000.05	125,000,05	
Traffic Control & Construction Signing	199,000.00	199,000.00	154,000.00	154,000.00	
Senate Bill 1 (SB1) Sign	550.00	1,100.00	860.00	1,720.00	
Water Pollution Control	10,000.00	10,000,00	4,340.00	4,340.00	
Roadway Preparation	80,000.00	80,000.00	71,610.00	71,610.00	
Portland Cement Concrete (PCC) Curb	25.00	42,725.00	60.00	102,540.00	
Median Cobblestone	19.00	77,463.00	19.00	77,463.00	
Root Pruning and Root Barrier	81.00	2,025.00	90.00	2,250.00	
Processed Misecellanous Base	80.00	20,800.00	160.00	41,600.00	
AC Pavement Widening	255.00	58,650.00	370.00	85,100.00	
I Mill & Fill	283.00	36,790.00	441.00	57,330.00	
2 Base Repair	273.00	36,855.00	315.00	42,525.00	
Removal, Installation, & Raising Guardrail	22,000.00	22,000.00	21,990.00	21,990.00	
Cold Milling (5' Wide)	3.15	18,285.75	2.60	15,093.00	
6 AC Taper With Key	1.15	9,826.75	0.60	5,127.00	
Seal Coat	1.20	4,137.60	3.15	10,861.20	
Asphalt Rubber Aggregate Membrane (ARAM)	5.70	356,552.10	5.75	359,679.75	
Asphalt Concrete Hot Mix (AC) with Fiber Reinforcement	127.00	757,047.00	155.00	923,955.00	
3 Shoulder Backing	7,585,00	75,850.00	6,890.00	68,900.00	
Miscellaneous Paving	275.00	4,125.00	762.00	11,430.00	
Pavement Delineation, Striping & Signing	119,000,00	119,000,00	127,500.00	127,500.00	
Survey Monument Frame Replacement & Adjustment	1,250,00	58,750.00	2,025.00	95,175.00	
Release On Contract	1,00	1.00	1-00	1.00	
TOTAL		2,165,983.20		2,405,190.00	

rom unit price M=Modified b bidder

Bids o	pened on August 2, 2022	4th Bidder		
Project	t Name: Pavement Resurfacing - Creek Road Area			
	Spec. No. RD22-12			
ITEM NO.	ITEM	UNIT PRICE	TOTAL	
1	Mobilization			
2	Traffic Control & Construction Signing		21	
3	Senate Bill 1 (SB1) Sign		(6)	
4	Water Pollution Control		-	
5	Roadway Preparation		-	
6	Portland Cement Concrete (PCC) Curb			
7	Median Cobblestone			
8	Root Pruning and Root Barrier			
9	Processed Misecellanous Base			
10	AC Pavement Widening			
11	Mill & Fill		32	
12	Base Repair			
13	Removal, Installation, & Raising Guardrail		=	
14	Cold Milling (5' Wide)			
15	AC Taper With Key		72	
16	Seal Coat		-	
17	Asphalt Rubber Aggregate Membrane (ARAM)		<u> </u>	
18	Asphalt Concrete Hot Mix (AC) with Fiber Reinforcement			
19	Shoulder Backing		£	
20	Miscellaneous Paving		÷	
21	Pavement Delineation, Striping & Signing			
22	Survey Monument Frame Replacement & Adjustment		-	
23	Release On Contract			
	TOTAL		0.00	

### **PROPOSAL**

Contractor's Name <u>J & H Engineering General Contractors</u>, Inc.

# List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
WM Surveys	LS #5948	2747 Serwin Ave., #1 Ventura, CA 93005	2 Survey
Chrisp Company	374600	2280 S. Lilac Ave. Bloomington, CA	21 - Pavement Delineation, Stripin
Alcorn Fence Co.	122954	9901 Glemoaks Blvd. Sun Valley, CA	13 Remove, Install & Raise Guardrail
Manhole Adjusting	398443	9500 Beverly Road Pico Rivera, CA	17 - ARAM
CAN CONSTRUCTION SPECIALTIES	256795	2419 PALMA DE. VENTURA, CA	13 - GUARDRAIL REMOVE+INSTALL
If more space is needed	attach additional about		

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

(a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.

(b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at least 30 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.

#### **PROPOSAL**

Contractor's Name TORO ENTERPRISES, INC

#### List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
AMERICAN PAVEMENT SYSTEMS, INC.	943792	1012 11TH STREET, MODESTO, CA 95354	1,2,17
CW CONSTRUCTION SPECIALTIES, INC.	256795	2419 PALMA DRIVE, VENTURA, CA 93003	13
•×	= 11 4		
	► 01 <u>C</u> 0		
	98.		
		×	
If many an and is nearly	9		

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at least 30 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.